Installation Instructions

MEx20mm Machine Screw (1)

5T4.2x19 Self Tapping Screw(1)
IMPORTANT

Please read the instruction sheet prior to installation, This speaker
mount was designed solely for the mounting of small speakers weighing
less than 101bs, We arc not responsible for damage that may

neeur i speakers weighing more than 101bs. arc used.

M5x20mm Machine Scraw (1)

Self-Tapped Mounting

\ 15. Locate the optimum location for the mounting plate and use it as a template 1o mark the drilling locations.
g;ﬁ:“]gm i NOTE: Do not drill or screw into the speaker where you could possibly damage the internal components,
3 V6. Drill the pilot holels] using @ 1/8” drill bit. This hole{s) should not be drilled more than 12 depth (Figure 6],

5T5.5219 Self Tapping Screw (2)

S/8"-32x5/8" Machine Scraw (1) 5T5.5245 Sel Tapping Screw(2}

87 P4
e r)rs

A14"-200e1/2" Machine Scraw (2) F
NOTE:  The user will have to determine which type of configuration 4 330 Aligtar PIAwsic Anghor (2} Figure 6
will work best with the hardware that was purchased, 1f the M3x1i8” Plastic Washer 1) _ MOUNTING TO THE WALL OR CEILING
included hardware does not fit the application, the appropriate Wintmm Flat faad Machins Sciew (1)

The maunting hardware for three different surface applications is supplied. You will need ta determine what style hardware will work besl with vour
hardware will have to be purchased, #8-32 Round Key Hole Nut {1) :

mounting surface. Always use caution when drilling into a wall or ceiling. Make sure to avoid all electrical and water lines.

M35 x 20mm Machine Screw
1. Most satellite speakers will require the use of the M5 x 20mm maching
screw used in combination with the M5 x 1/8” plastic washer, The plastic
washer is used a5 a spacer between the threaded insert and the post (Figure 1).
NOTE: It is critical the Mb plastic washer is used cormectly.

WOOD SURFACE

1. Using a stud finder. locate the wood stud or framing
member.

NOTE:  Always mounl the speakers in the center of a stud.

Speakrr Back

Wil)

2. Once the proper configuration is determined, secure the post to the speaker, 2. \ksing the wall plate as a template, mark hole positions
o I\__U Maunting Pust an mounting surface,
:‘:;):I:ﬂmﬂ NOTE: Inwall mounting applications position mounting
holes in a vertical pattern (Figure 7).
Figure 1 3. Drill holes through the drywall and into the wood stud
M 5T 1. Some speakers use the smaller M4 x Bmm hardware,

Flastic Washer

using 3 1/87 drill but. These holes should be drilled
__ Ma x @mm Flat Head

?

which is mserted into the off-center hole on the

1-7/8" deep (Figure 7], )
Machine Seecw mounting post (Figure 2. 4. After the holes are drilled, mount the wall plate using Figure 7
3 4, Check the size of the hole and make sure the ser.azes the 515045 sell tapping screws.
E machine screw, the 1/47-20 x 1/27 machine screw, the
g e, MBx20mm, ar the M5 x 20mm fits inside (Figure 3).
5. When the correct size is determined, place the screw through
the speaker post and attach to the rear of the speaker enclasure.
8 5 NOTE: 1f the screw does not tighten properly, use the M5 x 1/A” L
igure " lasti T i it up. | -
g :ﬁf.mw SR plastic washer to tighten it up. | t ‘\ —Rv DRWALLSIRTACE
Machine Stew Pre il 2 . - ;
| 15" Hales J STSEnAS 1. Locate the best mounting lncaian in the ceiling ur wall.
M 18" Figure 3 | St Tappig siien Lising the wall plate 25 a template, mark the hole positions
Phastic Washer E— | f on the mounting surface.
! { OTE " L " . 1 bl
T i P —— Figure 8 NOTE: In wall mounting applications position mounting hinles
kenoie I’ . —— === in g vertical patter.
oot 2 L. Drill holes in the drywall using a 5167 drill bit [Figure &),
KE! Hole Mounling ::.'.:;;nd ekt gl 3. Once the holes are drilled ert the alligator anchor inte
= ) o . . Make sure the anchor is flush with the wall andjor
E] 7. If your speaker has a factory key hole design, you will use the Trsert ABigatar Anener ‘r::lh:fpi:ﬁa(‘c (Figure 8). =5 ) o
H Sig-32x508” machine screws in combination with the key hole nul, 4, With the anchor in place, mount the wall plates wsing the
k] 8. Loosely pre-assemble the mounting post with the seaz.se S15.5%45 self tapping screws {Figure 0).
machine screw and key hole nut (Figure 4).
NOTE: He sure the key hole nut & installed with the knurled [rough) edge
toward the post.
/ 9, Engage the key hole nut inta the key hole slot, as shown. y T I N—
t S 3205 10. Fut tension on the assembly by genthy pulling back on the speaker mount post 1 T \ \ CONCRETE SURFACE
I‘BIq]Irz ::.I:m hey Machine Screw while tightening the S8~-32x88" machine screw (Figure 4), vk g{f#::l"g 1. Using the wall ;]|B.lt asa t?mp]au mark a hole positions on the maunting surface,
Figure 4 11, The key hole nut will engage on the housing in the key hole slat. thert Algaice Achor F;ﬁ:,. NOTE_; In wall muunting applications position mounting holes in a vertical nattern. X
= 12. 1 the post does nat tighten securely against the howsing |, it will be necessary to Li ¥ e 2. Drill holes in the solid concrele or hollow block using a 516 masunry bil, Once the hales are drilled,
use the M5 x 187 plastic washer 2s a spacer under the head of the 8-32 x 5/8” TV A msert the #12-14 Alligator anchors (Figure 9] into the holes, making sure the anchor is ush with
machine screw [Figure 4], the surface of the wall (Figure 9).
“g‘ :,'LTm,;m;:‘,‘u 3. With the wall anchors in place, mount the wall plate using the §78 5.5 self tapping screws
B A anchor : [Figure 49).
Lie hammer to taj il
2'{4 = Hﬂ]f Muunti“g anchor Inta plmp Flgum 9_

13. Find the best mounting configuration that matches your speaker enclosure, Four-hole speaker mount
patterns can he accomodated by positioning the speaker plate diagonally (Figure 5).

s £ 3 Extension Mounting Low-Profile Mounting Sirzaker Mounting
14, Using the 1/4"-20 x 1/2" machine screws, install the speaker plate and secure the speaker Geiling andiar Snell Applicatians Wil and Calling ABolicaions .
enclosure [Figure 5). Q 9 App Y /’: ‘\/-’\N
" ———
P % S
| i Do Mot Use . o I E{b@% % by
E \"-. Extansion In f ” ! b J.f‘afl I I" *f,"!f}
£ 14%-20% 12 Wall Mounted I L o i ({‘ y "lf"’,-"f
i u,?m Screw -.\ -y ¥ Applications Tighten the Allen screw using Tighten the Allen scraw using \\M /
W ey rowvid i
/ \,__J/ Ll Figur:\:g ad Allan wrench the provided Alien wranch Pos! Style Speaker Plata  2-Hole Speaker Plate
- | " . Figure 11 Figure 12
2-Hale Orien; A SRR = &
I Install 2-1/27 exiersion portion of the speaker Install (he low-profile pontian of the speaker Install the speaker with the speaker post or
o P F I
Figure 5 maount (o the wall plate.
E — 3

mount fo the wall plate or 2-1/27 extension.
Secure the setscrew 1o hald the extension in
place with the weight of the speaker sitached.

2-hole plate attached.
Secure the setservw to hold the extension n
place with the weight of the speaker attachedd

Serure the serscrew to hold the extension in
place with the weight of the speaker attached,



